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General instructions.

Please read the following instructions carefully.

e Check that you have a bubble-sheet accompanying this examination booklet. Do
not break the seal on this booklet until instructed to do so by the invigilator.

¢ Immediately on receipt of this booklet, fill in your Name and Roll Number in the
designated space below.

¢ Following the instructions on the bubble-sheet, fill in the required information

in Boxes 1, 2, 4, 5 and 6 on the bubble-sheet. The invigilator will sign in Box 3.

¢ When instructed to do so, break the seal on the examination booklet and {ollow the

instructions on Page 2.

o The entire examination will be checked by a machine. Therefore, it is very
important that you follow the instructions on the bubble-sheet.

« When you finish, hand in this booklet and the bubble-sheet to the invigila,to}.

e Do not disturb or talk to your neighbours at any time.

e Anyone engaging in illegal examination practices will be immediately

evicted and that person’s candidature will be cancelled.
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Part 1

Instructions.

o Check that this booklet has pages 1 through 29. Also check that the bottom of each
page is marked with EEFE 2006 A 01.

e This part of the examination consists of 20 multiple-choice questions. Each question
is followed by four possible answers, one of which is correct. Indicate the correct answer
on the bubble-sheet, not on this booklet.

+ Each correct choice will earn you 1 mark. However, you will lose 1/3
mark for each incorrect choice. If you shade none of the bubbles or more than
one bubble, you will get 0 for that question.

s Use pages 18 through 29 of this booklet, marked Rough work, to do your calcula-

tions, drawings, etc. The “Rough work” will not be read or checked.

You may begin now. Good huck!

1. Suppose A and B have to divide a box of chocolates and both of them prefer to have
more chocolates to fewer chocolates. An allocation that gives all the chocolates to A is
(a) Pareto inefficient ‘
(b) Pareto efficient
{c) Pareto unfair
{d) Pareto fair

2. Among the effects of urban rent control are

{a) a disincentive to build for rental purposes

{b) an impHcit re-distribution of wealth from those who do not have rent-controlled
housing to those who do have rent-controlled housing

(c) a low degree of mobility in the housing market

(d) all of the above
3. Processed and piped water is

(a) a public good

{b) a private good

{c) a private bad

{d) a public bad
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